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Part Il : FiEATH
1.James earns 15 dollars an hour. He has $270 non-labor income per week. He

has 72 hours a week available for either labor or leisure. His utility function
is U(C,R)=CR* where C is dollars worth of goods and R is hours of

leisure. How many hours per week will he work? (A)24 (B)12 (C)36 (D)
15 (85% & £#)
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2.All else being equal, according to the income effect and the substitution
effect, an increase in the wage rate will most likely have what effect on the
supply of labor? (A)Increase on the income effect; Increase on the
substitution effect (B)Increase on the income effect; Decrease on the
substitution effect (C)Decrease on the income effect; Increase on the
substitution effect (D)Decrease on the income effect; Decrease on the
substitution effect. (100% + 2 )
3.The substitution effect of a wage increase leads to: (A)a decrease in the
quantity of labor supply (B)an increase in the quantity of labor supply (C)a
decrease in leisure (D)a parallel shift in the budget constraint (E)XB) and
©. (852 i foan ~ 818 )
4.For a labor supply curve to be backward-bending it must be true that: (A)
leisure is a normal good and the income effect is stronger than the
substitution effect (B)leisure is a inferior good and the income effect is
stronger than the substitution effect (C)leisure is a normal good and the
substitution effect is stronger than the income effect (D)leisure is a inferior
good and the substitution effect is stronger than the income effect (E)None
of the above. (83 ki~% &)
5. Which of the following statements describes a backward-bending labor
supply curve of Marry? (A)Every hour that Marry work represents a loss of
an hour of leisure (B)Marry asked for extra hours this month to pay for her
airplane ticket to Florida for spring break (C)When Marry received her last
raise, Marry cut back on her overtime hours so that she could work fewer
hours but earn the same amount of money per week (D)Marry worked more
hours when she was younger. (1005 4% )
6. 5 & 5 B 1 5 i f ARy TOET T RSk KR 1000007 1) T B
(Y —70000)° +110X* =40000° 37 {I] 5 » E 1Y 8 A H T T Tk
(Y>0) » XPVAZ (BN (X >0) o [HIHF I ev [0 2P » 5
}ﬂ’sj\ %’?Elfﬁ TOfE? (S iﬂﬁﬁlgl'r% [E4 7%, fi%s — Iﬁ[ﬁ 33 e )
(A)400007+  (B)700007+  (C)200007+  (D)300007 - (98% 4 &%)





